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Model Answer Paper Marks : 100

Paper dudl avid Model Answer Paperii ludidi »uddl pointsd aslelz 8d. el
gel options AUl il 9 Fl dwRAAHD AL . dHidl sl uLl option dvdl ¢ld, d-ll
olld Ul wdl €11 dl marks dludl.

(M) 2 usidl Gdr 2Alssivi &, (Answer the questions given below in boxes on the

right.) Marks : 20
g5 AL wdlel Mle 2 marks lual.

1) olgaol

) wdl

3)  [@-dlal

¥)  @eall-d

Y)Y
) Reneqi
9)  uRemel
) wydaaR
) ARYSHR
10) AW

(II) w2l et wie 5. (Choose the correct answer.) Marks : 10
€35 AL el Hie 2 marks udl.

(c) »idqu

(a) udloL

()
()
(3) (b) w3
(%)
(w)

¥)  (c) »audl

) (c) €l A

(TIT) essi et-ldl. (Match the columns.) Marks : 10
85 AL wdlel Wiz 2 marks Aludl.

(1) e

() a

(3) d

(¥) b

(W ¢
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av)

(VI
()

ast AR ® 5 v d owsudl. A v €l dl sl wuul. (Write true or false. Give
reason if false.) Marks : 10

g5 AL wdlel M2 2 marks lual.

False avd e€la ugl siR8l < avd &ld 2adl wig sikel qud €l dl 0 mark.
True 2 s AR <l

True.

False. selHl «dl 2l

True.

False. uz dlet ual « s 3.

False. 2iddvidl avid usl Al 2dla9usdl 9.

Ystel oeldl 2 uMondl. (Explain the words of the patra.) Marks : 10
g5 AR wdlel Hle 2 marks udl.
oIY Al Ad [ Rl Al dl [ deleld 2Ud dl [/ ARRS elld Gaust iy dl.

N

yRemadl Bl 2o ad dl [/ ool dl /o elld ik Udd dl
(Fly ey i dl [ Ml udllQell 2dlsiz dl

ey 5D Mla Adldl [ AlssU MlE AL [ ed WRL A viedd stad uReer dard <.
1) uelddi ALl AR .

2) A8 e 3 Bumi -l

3) wratMi «Adl.

~ Y

sumiefl A YAl aval €id dl 1 mark, & vl QA A 112 marks 1 A9 @va S 2
marks dl uudl.

w5 AsAUl waer »UUl. (Answer in one sentence.) Marks : 15
85 AL wdlel Wiz 3 marks ludl.
w9 Adl Gau~t 2l <2l [ W Rdc Ral ed.

-

AR Yl Feedl iR glan dldl © ddi a-deulidl edldl Hyudd Fedl A,

S

1) Bl - ritualsdl MO8 Al vig «Adl. - 112 marks
2) q3udarl US| ducad A [ a3udl uss sd. — 112 marks

sl (Al 83 dl @A Ul HAoMd 4 53, Uit %33 4ot s uedR waddl oy,

-~

qe adlz 28l 9 ddl d AR UM Al s 9 [ vl [@Adl gl 52 dl dHi 228l wy |
A 53 AESIRHL A AU A W2 AR-2usluds sd w3 9/ el 9ol ARL O UL Uldl
He o 4oy 9 d AR A8 9.

1) 2l @ dldl Q. - 1 mark
2) Al oousaldl addl-uHel Sl - 1 mark
3) -l owousaldl s0U Sl - 1 mark
2siadi ol @vil. (Answer in briefl) Marks : 25

geld - uRdl uallall M2 wd Az AR Bl 29, ugl ddl olldR d uellaiia ussaiddl,
RSz sa-l ol 8. — 212 marks



3

yud - ddl Ad cerdl Bur il €lr vl ddl woedl da, eid vRier §iS ad. aM [Bul
Yionl A5 e AU dg, old €l w5 ddl el Bal Al ved ofldz el ARL €l
g o3¢l Al — 212 marks

~N Y

grid - AWH™HL AR UR sAddldl disid 9 uRl A sld RHR Al Ad d uedl Gldil mu

wdl HesRA FM™MiAL sesl HR dl d ueipd A€l RHHE uvll dd el dl d wan
AR UR sAAA. — 212 marks

wanid - du [Baeds ugdzdl eawir suddldl disid 8wl wadl Guielddl wlal A 8.
B AULLR MOl U duMl AL L eld, ALAL HHBL b odd dl d AR AL ARRA
A oud @ dl @A HAuR . — 21/2 marks

NN

geid - Al sHelk 4o ddyl wWad U ddl e3s el Wl u eAldl Wl dural [@-
sédl edl 5 ek 9. dll Mt ollddld A od, dulald ed. ddl wudl Hedidl sl
wsRUd UL AdL el — 212 marks

i - dd o wa il gel Bal 529 ual e S8 dwd sl ol wudiRdas sdl
Al wicaadl dd udl Adl A WA 9 3 Uld GRS 9. ull diRdadi 9 il ¥

2l — 212 marks
greid - oudlal ux 2w [l et Guusaldl wrd odl dl wis @lsaa dudlal awlld et 4
dly. — 212 marks
el - Ad Gudlel vidxdl dldi, iddu sadi Aderetdl wlw o wa §. — 21/2 marks

gid - AR Ad ouds A — 1) vl udlan sdl ¢ld. ) 2wud bl ¥d ul. 3) uddi
oif3oL suad ui. ¥) wuell WA eldl .

wd - AR dd AR HA — 1) 3 2wuel udlan sl €l ) wuud oA lddl ul.
3) el eidlfl HA el Wl Al enadl cudl uddall oo suef dld. ¥) wadl
wadl AAdl ¢ld 5 UL elsdl 2ud.

grald » ued oedi Bls YAl @vdl did dl 1 mark, A e aval da dl 11/2 marks,

A8l el avdl dld dl 2 marks w9 AR ¥l aval da dl 21/2 marks uuar.
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